[>

2
> base = x—)% —5;
base:=x—>% (x—5)2—5 @
=> plot(base(x),x=0..10);
6,
4,
2,
0 \
10
_27
_4—
=> [0, base(0) ], [1, base(1) ], .... [7, b], [8, base(8)], ...
15 1
_ 0.5 | 1131 O ul7.63 8 -5 L 0.0) e
> parabpt = [seq([i, base(i)],i=0..10) ];
paratpr=|[0. 3| (131 [2 -5 L33k |4 -S| sue - L msns @
1 15
B 1931, 10,5
> parabpt[1..7], [7, b], parabpt[9 ..11];
@




2 2
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> [ op(parabpt[1.7]), [7, b], op(parabpt[9 ..11]) ];

Ho, % ,[1,37, [2, —5], [3,-3], |4, %} [5, -51, [6, %} [7,b], [8, %} (9,31,
[10,12—5 ]

[ > seq i, base(i)1,i=0..6), [7, b1, seq([i, base(i)],i=8..10) ]
H } 3], [2>‘%},[3,—3], [4,-% 9

, [5, -5, [6, -
0

2
=> pdata == b— [seq([i, base(i)],i=0..6), [7, b], seq([i, base(i)],i=8..10) ];
pdata .= b— [seq([i, base(i)],i=0..6), [7, b], seq([i, base(i)],i=8..10) ]

> pdata(200000000);

HO %} [1,3], [2, —%}, [3,-3], [4, —%}, [5, -5], [6, —%}, [7,200000000 ], [8, —%},

19,31, [10 125 ”

> with(CurveFitting);
[ArrayInterpolation, BSpline, BSplineCurve, Interactive, LeastSquares,

Polynomiallnterpolation, Rationallnterpolation, Spline, Thielelnterpolation ]

}, [7, 0], [8, —%}, [9,3],

[ > Polynomiallnterpolation(pdata(-3), x);
I % X —5x+ 12—5
> Polynomiallnterpolation( pdata(-2), x);
1 10 1 9 41 8 1877 7 1253 ¢ 8321 5 _ 242639 4

"30240 © T 630 T 1260 ¢ T s040 Y T 280 Y T 720 ¥ T 7560
22439 3 1985 o, 85 ., 15
T N T YT

[ > plot([pdata( -2), Polynomiallnterpolation(pdata(-2), x), Polynomiallnterpolation(pdata(
-3),x) 1, x=0.10, style= [ point, line, line], symbolsize=24);
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[ > Polynomiallnterpolation( pdata(b), x);

15 1 _ 1 10 1 1 9 41 4] 8
2 +( 10080 30240 b)x +(210 T 630 b)x +( 420 1260 b)x (12)

1877 1877 \ 7 1253 1253\ 6 (8321 . 8321 5
+(5040 b+ 1680)x +( 430 07 160 )x +( 240 T 720 b)x +(
242639 242639 N\ 4 [ 22439 22439 3 1999 1003 >
2520 7560 b)er( 120 T 420 b)er( 14 21 b)x
120 325
b
I +( 7 + 7 )x
> f:= b— Polynomiallnterpolation(pdata(b), x);
i f:=b— CurveFitting.-Polynomiallnterpolation( pdata(b), x) (13)
> f(3);
1 10 1 9 41 g 1877 7 1253 ¢ 8321 5_242639 4
5040 5 T 705 210 Tsa0 ¥ T 0 ¥ T 120 F 1260 (14)
22439 3 4005 o, 685 , 15
+ 70 X 14 X +—7 x + )

(> plot( f(4), x=-0..10);
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> eff = unapply(Polynomzal]nterpolatton( pdata(b),x), b);

>ploteﬁ‘ ), x=0..10);

15 1 10 1 1 41
ffi= b +( 10080 T 30240 b)x + ( 210 T 630 b) ( 420
S (1877 1877\ 7 ( 1253 1253\ ¢  ( 8321
126 b) (5040 b+ 630 )x +( 230 77 160 )x +( 240
L8321, s 242639 242639 |\ 4 (22439 . 22439 3 1999
720 b)x +( 2520 7560 b)x +( 120 T 420 b)x +( 14
B 1003 A x2+(120 - 3§5)x

(15)
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=> pl = b—plot(eff(b),x=0..10);

> pl(2);

pl:=b—plot(eff(b),x=0.10)

(16)
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10

10

=> pl == b—plot([pdata(b), eff (b), eff (-3) ], x=0..10, style= [ point, line, line), symbolsize
=24);
| pl .= b—plot([ pdata(b), eff (b), eff (-3) ], x=0..10, style= [ point, line, line], symbolsize=24)  (17)

> pl(2);
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> pl(-4);

Fat




;put it all together:
(x—5

)2
> base==x—>T —5:

pdata = b— [seq([i, base(i)],i=0..6), [7,b
f = b— Polynomiallnterpolation( pdata(b), x
pl == b—plot([pdata(b), eff (b), eff (-3) ], x=0..10, style= [ point, line, line), symbolsize

_ =24) :
> pl(2);

], seq([i, base(i)],i=8..10)]:
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[ > pl == b—plot([pdata(b), eff (b), eff (-3)1],x=0.10, y=-10..15, style= [ point, line, line],
symbolsize=24) ;
pl:=b—plot([ pdata(b), eff (b), eff (-3)1,x=0..10, y=-10..15, style= [ point, line, line], (18)

symbolsize =24 )

>

[insert table from menu, click, insert plot from components, insert slider from components. right click to
make stuff do goodness.
| Put  Do( %Plot0=pl(%Slider0)); in the slider.
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